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Banta ner och fyll ut.

λ1p1 + λ2p2 + λ3p3 = λ1

(

1− x + x2 − x3
)

+ λ2

(

1− x2
)

+ λ3

(

1− 2x + 3x2 − 2x3
)

=

= λ1 x











1

1

1

1











+λ2 x











1

0

1

0











+λ3 x











1

2

3

2











= x











1 1 1

1 0 2

1 1 3

1 0 2















λ1

λ2

λ3



 = x











0

0

0

0











resp q = x











a0

a1

a2

a3











⇐⇒

⇐⇒











1 1 1 0 a0

1 0 2 0 a1

1 1 3 0 a2

1 0 2 0 a3











∼











1 1 1 0 a0

0 1 1 0 a1 + a0

0 2 2 0 a2 − a0

0 1 1 0 a3 + a0











∼











1 1 1 0 a0

0 1 1 0 a1 + a0

0 0 0 0 a0 + 2a1 + a2

0 0 0 0 −a1 + a3











.

Beroendeekvationen:





λ1

λ2

λ3



 = t





2

1

1



, t ∈ R =⇒ −2p1 + p2 + p3 = 0 ⇐⇒ p3 = 2p1 − p2

Utse p3 till löjligt element, d v s stryk p3 och börja om fr̊an början. Ger p1,p2 linjärt oberoende.
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